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(1) Figure to the right indicate full marks.

(2)  Use of simple calculator is allowed.
(3)  Graph paper will be given on request.

DISCLISS the scope. of operation research in the vanous sector. .
Use graphical method to solve the following LPP
Minimize : Z =35x + 25y

~ Subjectto: . 3y +y 230,

x+2y<40
4x+3y 260 and - -.
Lyz0
-~ OR
What do you mean by degeneracy in LPP ? How 1t can be solved ?

Solve the followmg linear programrmng problem
Maximize : Z =50x; +20x,— —40x; -

2] '-Subject_to: o '__xl+xzs 25,

X; = %,< 10 and

xl,x220 SN il B ~'"'

(B) Answer the followmg by selecting an appropnate altemauve (any t‘our)

MT-116

(D

[©))

If three or more va.nables are there in an LPP, then _ rpethod is
used to solyeit. ‘ - ' '
(a) Graphlcal : | (b) Hl‘mgarian '

(¢ MODI" (@ Simplex

Which of the followmg cannot “be an objecnve functlon m lmear
programnung 7.

(a) Z—10x+25y '(b) Z=20x-8y -
© Z= 213+3x2 "~ (d Both@and®) .. ' .
14 |



N (I3) B | I h’, ik . . : . e
g ;I:;e feasible: solutmns a linear programming problem is -
© 1(;ijw'ex et g (), Negative _
nknown o (d) Inﬁnite

@) F | '
: ). For 4 mﬂxlrmzauon problem the objecuvc functlon coefﬁcient for -an
&rtiﬁcml vanab]e 13 B s : '
o © zero @ Nomeof the above
) '

| _Artlﬁmal vanable in

sunplex method must be mtroduced when the
- COnStraints consmt of :

-____Tf___mgn L
i RN N NORE
© = - @ (b)and(e)

‘(6) A physical' model isan example of

(ﬂ) Ani 1comc model

(b) A m1themat1ca1 rnodel
) A dynamxc model ‘

(d) None of these
2, tA)_ i “An ‘as'sig'nm'ent p;bblel'frjl isas
Discuss this statement. i o0

7
_, (ii) Solve the followmg transportatmn problem by Vogel s Approx:manon
) method Also obtain fotal transportation cost. Y padd
EE | Dy | D | Dy | D, Supply -
0, s 4 |4 5| 350
o |3 [e[2® |
o, [ 3 [ 3 4 |3 ™ |
"Demand | 200 |.400 | 300 | 200 | ... .
: (l)‘ Obtam basu: feas:ble solunon Of the followmg transpurtatmn problem by
o matrix-minima ‘method and find optimum solution. R '
_ D, | D, | Dy | Supply
01 |8 > , 1- | '-40- - i
3 ‘ ,:i, 5’02 4 - 7 : + 60 . :
3 |-
Demand | 70| 40 | 60 - - AL
—— T 15 : _ - s 1PTO..
MT-116 -, ! TR | EREE



; , ;
(i) - A captain of a cricket team had to allot five middle batting posi

~ follows : | :

Bntdm il Batting Positions . ‘
m | v | V | VI]|VI]|

A |.43 | 43 38 | 28 33

B | 45 [ 33 | 19 | 28 [ 30
c 53 | 51 43 | 63 .| 53 |
D | 23 [ 2 |23 | 21 | 287
E 61 | 63 | 62 |58 | 56|

ons to five

“batsmen. The average runs scored by each batsman at these positions are as

- Make the assignment so that the expected total averagc muns scored by thesc
batsmen are maximum.

(b) Answer the following by selecting an approprlate alternative : (any four)
(1), .In which method of solving tranSportatmn problcm Lhr:. unit cost of

. MT-116 .

@

@

@

)

“transportation is not taken into consideration ?

(@) N-W corner method )] Least cost: method
(c) Vogel’s method ) None of these '

For a transportation matrix of order 5.% 4, how many number of
mdependent solution wﬂl be? ..

@ 20NKS )

@y SN - - 8

Whlch of the- followmg methods is used .to venfy the- 0pt1ma11ty of the
current solution of the transportation problem 2. :

.(a) Least cost method (b) Vogel s method g

(c) -MODI method h ©(d)y* N-W corner method

In asmgnment problem supply of each ongm —_ demapd of each
Cdestination. P S . «

@ > . < '

© = L s (d)" #

How many asmgnmcnts would be there in any row or column in a551gnment
problem ? o | : IR IR B 5 N

(a) Exactly one A (b)' Mbre”tha_n one " -t

(c) Not fixed ~+ (d) None'of these ., -1; s

16 -
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o

H““Saria | ' _
.1 method of solving the assignment problem give '__
solution to the proble ‘ o _ )

lem.
(a) , Initial basic
© Non-negatiye

(b)
(d) Degenerate

Optimum

Explai i 3 ' : 3

~“Plain graphical method for solving mixed strategies of 2 X n or m X 2
game theory, R B | | 7
There ight iobs 1 | I

: arc eight JObs 10 process each of should go through two machines A
and B in order AB. The processing time (in hot n

. hours) has been given as per the
under. Find out optimal ‘sequence and e

: minimum elapse time for the
processing, | _ | TR e -
Job 1213451617181
Machine-A [ 20 16| 14 |21 [ 16 | [0 [18 | *
Machine-B [ 25 | 18 | 21 [ 19 [ 18 [ 16 [ 12 [ 15
L T OR i
 Solve the problem of game and find value of the game : ;-
. Plajer—B TGl
} 3 "_B,l__"BZ ‘_ Pt
SV N\ R
| ¢ 371
). A 9 .. Player-B:.
S1 % 1 R A G
=2 15 2
. Player-A 2 -5 -6 -4 | '
C 3L -5 20.-8

The following table gives machine time for five jobs. Find the sequence of

. the job that minimize the total elapse time to complete the jobs. What is the

total idle time all machines ?. -, .

Job - 1 2 3 4 5 |aten) v .
Machine-A | 6 | O | 5 | 7
Machine-B | 5 2 4 13

‘| Machine-C | 9| 7 | 8 |9 | 10

o4

i

4

PTO.



(B) Attempt any three : |
(1) What do you mean by saddle point ? _

(2) Whatis fair game ?- .
(3) Fora sequencing prob]em of n jobs on two machmes if the lowest time is

for j" job on machine M,, the j th job is put____ Place available.

(4)  What'is “No Passing” rule in sequencing problem ?
(5) - State the models of the sequencing.

4, LGS @) Gwe the difference between PERT and CPM | o | 7
~ (i) Explain terms : 3 - \

"~ (1) Dummy activity
2) Indepgndent float

e

(3) Free float
() - A project has the following activities and time.,
| Activites 1-2 | 1-3 | 144 | 232535 45

Optimistictime | 3 [ 5 | 4 | 16 ] 7 | 6 | 10
Most likely time | 6 11 1-19 | 20 | 10 [ 10| 20
Pessimistic time | 15[ 17 [ 28 | 30 | 13 | 20 | 36 | -
(1) Draw PERT Network. (o

(2) - Determine the - expected ttme and 1ts variance.

(3) - Obtain the average compﬂatlon time of the pro;ect and its standard

deviation.
(ii) Fmd critical path for the followmg pl‘O_]CCt and then find EFI‘ LFI‘ and float

tlme for each activity : SR _
A;:!jvlty 12123243536 |46|4-7|58]68| 78

Time | 2 | 3 | 5 |4 |16 28|74

(B) Give the anlé-w-er for the following questions : (any three) |
(1) - ‘What would be the float time for the activities:lying on' critical ‘path ?
(2) Foran activity, if 3 t, = t, =2 t,, =36, find expected tune of an acnwty

-,;|'i

(3) Give definition of preceding activity.

(4) Give the formula of free float. |
(5) Define optimistic time of activity of PERT diagram.

- MT-116 18
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Instructions: (1) Figure to the right.indiﬁate marks 'allogted.t_c; each question.

1. (A)

(B)

MT-116

(2)  All questions are compulsory.

What is financial service ? Explain the needs of financial services and also

important components of financial system. : : 14
OR A | |

(). Explain meaning and functions of Custodian. 7
(i) Distinguish between Factoring and Forfeiting. _ | ki
Choose the correct option : (any four) ' ' 4
()  What is BBB credit rating ? _

(@) Weak safety (b) More than medium safety

(¢) Medium safety - (d) Normal safety

(i) When National Securities Depository Ltd. is established ?

(a) 1996 (b) 1994

(c) 1998 (d 1999
(i) Which financial instrument is not capital market from the following ?

(a) Equity share (b) Treasury bill

(c) Preference share (d) Zero coupon bond

(iv) Which is included in the financial system from the following ?
(a) Financial instruments (b) Financial intermediaries

(c) Financial market (d) All of the above
v) are also called deep discount bonds.
(a) Zero coupon bond (b) Regular income bonds .
(¢) Retirement bonds (d) Growth bonds )
(vi) Credit rating of which financial instrument is made compulsory by RBI and
SEBI ? : '
(a) Preference share (b) Debenture
(c) Equity share (d) Redeemable Preference share
5 : o T r'-‘. 'r,"PiT.O-



2. (A)
(B)
3. (A

MT-116

Define Merchant Banking, What are the pre-issue and post-issue obligations of

merchant banker ? 1
OR 7

(i) Explain the roles of merchant banker in the capital market. ,

(i)  Write short note on types of housing loan,

Choose the correct option : (any four) uoa 4

() Which service investment bank is not giving from the following ?
(@) Service regarding initial public issue
(b) Service regarding right issue
. (©) Service regarding forfeiting
(d) Service regarding preferential allotment

(ii) As per SEBI rules, appointment of which officer is compulsory for
commercial bank ?
(@) Human Resource Officer (b) Compliance Officer
(c) Public Relation Officer (d)  Financial Officer

(iii) The merchant banker has to make available the offer document to general
public within after filling to SEBL |
(@) 25 days (b) 23 days
() 21 days (d) 22 days

(iv) How many banks can be appointed as a lead merchant bank in the case of
public issue upto 50 crore to 7100 crore ?

()  Three (b) Five
(c) ' Four (d) Six
(v)  When the Housing Development Finance Corporation is established in India ?
(@) 1975 (b) 1977
(c) 1978 (d) 1974

(vi) Which is not a function of commercial bank from the following ?
(a) Management of Investment trust
(b) Insurance business
(¢) Corporate advisor
(d) Academic advisor

What is the mcaning of Banking Reforms ? Discuss in detail including its phases. 14

OR
(i) Explain the functions of bank. 7
(i) Explain the different types of General Insurance. 7

6 i)



(B) Choose the correct option : (any three)

4. (A)

(1)

(ii)

(iif)

(iv)

)

How many banks were nationalized in the year 1969 ?

@ 12 . (b) 13

© 14 @ 15 | ,

The principle of clear declaration of all important information relating to
insurance is called
(8) Principle of full trust

(b) Principle of insurable interest

(¢)  Principle of reimbursement of 10oss

(d) Principle of transfer of property %

The specific amount to be paid by client for the insurance agamst the risk is
(@) Insurance premium

(b) Total Amount of insurance paid by insurance company

(©)  Total Amount of Insurance '

(d) Amount risk beared by Insurance Company.

Which bank is included from the following in the new bank of private
sector ?

(1) HDFC Bank (b) ICICIBank

(c) AXIS Bank (d)  All of the above

By which name is written contract of insurance known ?

(@) Partnership deed

(b) Articles of Assoeiation

(c) Memorandum of Association

(d)  Policy

What are Mutual Funds ? Explain advantages and limitations -of investing in

Mutual Funds. 14
‘ - OR
(i)  Write short notes on Assets Management Company., 7
(i) Explain in detail the SEBI’s guidelines about mutual funds. 7
(B) Choose the correct option : (any three) ' 3

(i) On what bases trustees of Mutual Funds should give the report of activities

on Broad ? :

(a) Monthly base (b) Half yearly base

(c) Yearly base (d) Quarterly base
(ii) In which year Unit Trust of India established ?

(a) 1960 . (b), 1962

, d) 1966
(c) 1964 ; (d) | . PO,
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i) S.LP.medns.
(a) Scheme InvestmentPlan : 7 i
(b) Systematic India Plan o
(c) Systematic Investment Performance
(d) Systematic Investment Plafis *-*’ '

(iv) Which mutual fund was established first of all bY private sector 7

() Morgan Stanly Mutual Fund
{ *(b)"i Kotak Mahindra Mutual Fund ,
" (¢) Kothari Pioneer Mutual Fund
(@ CRB.Mutual Fund :

(v) After declaration of dmdend within how many days dividend warrant
~ should be dispatch to the unit-holders ! 7. '
(@) 15days | r (b) 30 days
, (c) 10_".c_iays' I (d) 21 ‘days

f-
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